
www.bellostarubinetterie.com/online/43_accessorirubinetteria.pdf

INFO TECNICHE

TABELLA PREZZI FINITURE

SIFONI
SCARICHI LAVABO/BIDET
SCARICHI LAVELLO
PILETTE DOCCIA
SCARICHI VASCA
SCARICHI WC
COLLEGAMENTI RUBINETTERIA
RACCORDI | PREDISPOSIZIONI 
TAPPI COPRI FORO
RICAMBI

CONSULTA LISTINO ON LINE
CHECK ON LINE PRICE LIST

877

878

879
879/887

888
888

888/889
889/891
891/894
895/896

896
897

pag.

pag.

pag.

pag.

pag.

pag.

pag.

pag.

pag.

pag.

pag.

pag.

INDICE | INDEX

876



877
ACCESSORI
RUBINETTERIA

ACCESSORI RUBINETTERIA
EQB DESIGN

PROGETTO SU MISURA: RICHIESTE SPECIALI
I tecnici di Bellosta Rubinetterie sono, inoltre, a disposizione di architetti e 
designers, per offrire un servizio esclusivo: personalizzazioni di elementi in 
funzione di specifiche richieste estetiche o problematiche legate a vincoli 
progettuali, verifica della fattibilità attraverso opportuni studi CAD e sviluppo 
del disegno tecnico del prodotto speciale richiesto. 
Per informazioni e richieste PROGETTI SU MISURA:
ufficiotecnico@bellostarubinetterie.com

PROGETTO SU MISURA: SPECIAL REQUESTS
Engineers Bellosta Rubinetterie are also available to architects and designers, to 
offer an exclusive service: customizations of items according to specific aesthetic 
requirements or issues related to design constraints, verification of the feasibility 
studies and development through appropriate CAD technical design the required 
special product. For information and requests “SU MISURA” PROJECTS: 
ufficiotecnico@bellostarubinetterie.com



878

ACCESSORI RUBINETTERIA

ACCESSORI
RUBINETTERIA

COMPOSIZIONE CODICE PER ORDINARE ARTICOLO IN FINITURA

CODICE FINITURA
FINISH CODE

CODICE ARTICOLO
ITEM NUMBER

0133/LXX -

TABELLA PREZZI FINITURE | INFO TECNICHE

PREZZO FINITURE
Calcola il prezzo di listino (IVA esclusa) delle finiture diverse dal cromato, consul-
tando la seguente tabella.  
Moltiplicare il PREZZO LISTINO per il COEFFICIENTE MOLTIPLICATORE della 
finitura scelta, arrotondando per difetto il prezzo ottenuto (eliminare i centesimi). 
ESEMPIO per ordinare art. 0133/L in finitura dorato: codice 04-0133/L

PRICE FINISHES
Include the list price (excluding VAT) of different finishes from chrome, consulting the fol-
lowing table. Multiply the PRICE LIST MULTIPLIER COEFFICIENT of the chosen finish, 
reducing the price obtained by deleting the centesim. 
EXAMPLE to order art. 0133/L gold finish: code 04-0133/L

NOTE:
GLI ARTICOLI 011/1/L, 011/1/B, 011/2, 028, 105007, 035090, 026/1, 026/2, 026/3, 034042, 034043, 054062, 084058 NON SONO 
REALIZZABILI NELLA FINITURA 02 (CROMO/ORO) 

GLI ARTICOLI 104025, 804051, 884070, 054035, 444013, 804052, 884071, 054010 NON SONO IN FINITURA

°PREZZO DI LISTINO  PRICE LIST           * N.R. = NON REALIZZABILE  NOT MADE      RICH. = PREZZO A RICHIESTA  ON REQUEST PRICE
 RICAMBI  SPARE PARTS    

cromato/chrome

cromo/oro/chrome/gold

oro/argento/gold/silver

dorato/gold

bronzo satinato/satin bronze

rame vecchio/old copper 

vecchio argento/old silver

canna di fucile/gun barrel 

verderame/verdigris 

nero antracite/anthracite black

ottone lucido/polished brass 

ottone naturale/natural brass 

bianco lucido/glossy white 

nero lucido/glossy black 

nickel satinato/satin nickel 

nickel lucido/polished nickel
 
cromo satinato/satin chrome 

cromo spazzolato/brushing chrome

nickel spazzolato/brushing nickel

avorio/ivory

azzurro/light blue

verdino/light green

marrone/brown

arancio/orange 

rosso/red 

bianco opaco/mat white 

nero opaco/matt black

rame opaco/matt copper 

argento opaco/matt silver

oro opaco/matt gold

bronzo opaco/matt bronze

dorato spazzolato/brushing gold

oro rosa/pink gold

ottone sisal/sisal brass

industrial

pomice opaco/matt pumice

arenaria opaco/matt sandstone

tuscany spazzolato/brushing tuscany

rame acidato/etched copper

cemento opaco/matt cement

brina opaco/matt frost

tuscany cerato/oilskin tuscany

ottone acidato/etched brass

basalto opaco/matt basalt

black gun metal PVD

nickel PVD

matt gold PVD

01-

02-

03-

04-

05-

06-

07-

08-

10-

11-

12-
 
13-

14-

19-

28-

30-

33-

34-

35-

56-

57-

58-

59-

60-

61-

66-

67-

68-

69-

71-

72-

75-

87-

88-

89-

92-

93-

94-

95-

96-

A1-

A2-

A3-

A4-

B2-

B3-

B4-

MOLTIPLICATORI FINITURE DI SERIE 
STANDARD FINISHES MULTIPLIERS

COD. COD.

COD.

CODE CODE

CODE

DESCRIZIONE FINITURA DESCRIZIONE FINITURA

DESCRIZIONE FINITURA

FINISH DESCRIPTION FINISH DESCRIPTION

FINISH DESCRIPTION

MOLTIPLICATORI FINITURE A RICHIESTA
ON REQUEST FINISHES MULTIPLIERS

MOLTIPLICATORI FINITURE A RICHIESTA
ON REQUEST FINISHES MULTIPLIERS

PREZZO LISTINO°

ACC.
RUBI

ACC.
RUBI

ACC.
RUBI

8816/E

8816/E 8816/E

016

016 016

RICAMBI

RICAMBI RICAMBI

ATTENZIONE! 13-OTTONE NATURALE e 88-OTTONE SISAL: finiture non protette che antichizzano naturalmente ossidando a contatto con l’umidità atmosferica.
WARNING! 13-NATURAL BRASS and 88-SISAL BRASS: unprotected finishes that naturally oxidise in contact with atmospheric humidity.



879

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

SIFONE OVALE PER LAVABO 1”1/4
SIPHON FOR LAVATORY 1”1/4

SCARICO 1”1/4 C/LEVA ORIZZ. X LAVABO DA PARETE
COMPLETE WASTE 1”1/4 - LEVER CONTROL SPECIFIC FOR WALL BASIN

SCARICO 1”1/4 C/ASTA VERT. X LAVABO DA PARETE
AUTOMATIC 1”1/4 POP UP WASTE FOR BASIN WITH KNOB ROD, SPECIFIC FOR WALL 
BASINS

8033

0134

0135

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-0134

01-0135

XX-0134

XX-0135

x M*

x M*

SIFONE LAVABO A BOTTIGLIA HI TECH 1”1/4
ONE WAY BOTTLE “HI TECH” SIPHON TRAP FOR WASHBASIN 1”1/4

SIFONE QUADRO PER LAVABO 1”1/4
SIPHON FOR LAVATORY 1”1/4

0133/L

6533

CROMATO

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

ALTRE FINITURE

01-0133/L

01-6533

01-8033

XX-0133/L

XX-6533

XX-8033

x M*

x M*

x M*

SIFONI | SCARICHI LAVABO/BIDET

70
Ø

max 320

32
Ø

m
ax

 2
30

m
ax

 1
50

1”1/4

52q

32
Ø

385MAX.

95
M

A
X.

 3
35

50Ø

Ø
65

1-1/4"

32Ø

70
Ø

32
Ø

285max

90
M

ax
 1

35

1”1/4

32Ø

70ovale 45 x

40Ø

30
 ÷

 4
5

63Ø

1"1/4

305

30
 ÷

 4
5

40Ø

63Ø

1”1/4

190

45
0

Ø 45



880

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

SCARICO TONDO STOP&GO 1”1/4 CON FINESTRA TROPPO 
PIENO
“STOP AND GO” POP-UP WASTE 1”1/4 WITH WINDOW FOR WATER LEVEL

SCARICO TONDO STOP&GO 1”1/4 SENZA FINESTRA 
TROPPO PIENO
“STOP AND GO” POP-UP WASTE 1”1/4 WITHOUT WINDOW FOR 
WATER LEVEL

0136

0136/1

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-0136

01-0136/1

XX-0136

XX-0136/1

x M*

x M*

SCARICO TONDO STOP&GO 1”1/4 SENZA FINESTRA TROPPO 
PIENO + DISTANZIALE
“STOP AND GO” POP-UP WASTE 1”1/4 SUITABLE FOR CRYSTAL BASIN WITH 
SPACE COLLAR WITHOUT WINDOW FOR WATER LEVEL

SCARICO UNIVERSALE TONDO STOP&GO 1”1/4
ALL-PURPOSE ROUND POP-UP WASTE 1”1/4

0136/3

0136/U

SCARICO TONDO STOP&GO 1”1/4 CON FINESTRA TROPPO PIENO 
+ DISTANZIALE 
“STOP AND GO” POP-UP WASTE 1”1/4 SUITABLE FOR CRYSTAL BASIN WITH 
WINDOW FOR WATER LEVEL AND SPACE COLLAR

0136/2

CROMATO

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

ALTRE FINITURE

01-0136/2

01-0136/3

01-0136/U

XX-0136/2

XX-0136/3

XX-0136/U

x M*

x M*

x M*

SCARICHI LAVABO/BIDET

63Ø

1”1/4

42foro Ø

30
 ÷

 4
5

63Ø

1”1/4

42foro Ø

30
 ÷

 4
5

1”1/4

63Ø

0 
÷ 

15 29

1”1/4

63Ø

0 
÷ 

15 29

63Ø

1”1/4

42foro Ø

m
ax

 7
0

TAPPO STOP&GO
POP-UP CAPS

000088
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

000088
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

000088
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

000088
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

000088
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura



881

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

SCARICO DA 1”1/4 S/FINESTR. TROPPO PIENO E DISTANZIALE
1”1/4 WASTE WITH SPACE COLLAR WITHOUT WINDOW FOR WATER LEVEL 
SUITABLE FOR CRYSTAL BASIN

SCARICO 1”1/4 C/FINESTR. TROPPO PIENO C/ASTA 
ORIZZONTALE 33CM
1”1/4 WASTE WITH WINDOW FOR WATER LEVEL AND HORIZONTAL 
ROD CM 33

0137/3

0138

CROMATO ALTRE FINITURE
01-0138 XX-0138 x M*

SCARICO DA 1”1/4 S/FINESTRELLA TROPPO PIENO
1”1/4 WASTE WITHOUT WINDOW FOR WATER LEVEL

SCARICO DA 1”1/4 C/FINESTR. TROPPO PIENO E 
DISTANZIALE
1”1/4 WASTE WITH WINDOW FOR WATER LEVEL AND SPACE 
COLLAR SUITABLE FOR CRYSTAL BASIN

0137/1

0137/2

CROMATO

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

ALTRE FINITURE

01-0137/1

01-0137/2

01-0137/3

XX-0137/1

XX-0137/2

XX-0137/3

x M*

x M*

x M*

SCARICHI LAVABO/BIDET

40Ø

30
 ÷

 4
5

63Ø

40Foro Ø

190

1”1/4

1"1/4

190

40Ø

63Ø

0 
÷ 

15

1"1/4

190

40Ø

63Ø

0 
÷ 

15

330

1"1/4

63Ø

30
 ÷

 4
5

40Ø

SCARICO DA 1”1/4 C/FINESTRELLA TROPPO PIENO
WASTE 1”1/4 WITH WINDOW FOR WATER LEVEL

0137

CROMATO ALTRE FINITURE
01-0137 XX-0137 x M*

190

40Ø

30
 ÷

 4
5

63Ø

1"1/4

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura



882

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

SCARICO 1”1/4 S/FINESTR. TROPPO PIENO C/ASTA ORIZZONTALE 33CM
1”1/4 WASTE WITH HORIZONTAL ROD CM 33 WITHOUT WINDOW FOR WATER LEVEL

SCARICO 1”1/4 C/FINESTR. TROPPO PIENO + DISTANZIALE C/ASTA 
ORIZZONTALE 33CM
1”1/4 WASTE WITH WINDOW FOR WATER LEVEL, HORIZONTAL ROD CM 33 AND 
SPACE COLLAR SUITABLE FOR CRYSTAL BASIN

SCARICO 1”1/4 S/FINESTR. TROPPO PIENO + DISTANZIALE C/ASTA 
ORIZZONTALE 33CM
1”1/4 WASTE WITH HORIZONTAL ROD CM 33 AND SPACE COLLAR WITHOUT 
WINDOW FOR WATER LEVEL, SUITABLE FOR CRYSTAL BASIN

SCARICO BLOCCATO TONDO 1”1/4
LOCKED WASTE 1”1/4

0138/1

0138/2

0138/3

0139

CROMATO

CROMATO

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

ALTRE FINITURE

ALTRE FINITURE

01-0138/1

01-0138/2

01-0138/3

01-0139

XX-0138/1

XX-0138/2

XX-0138/3

XX-0139

x M*

x M*

x M*

x M*

SCARICO BLOCCATO TONDO 1”1/4 + DISTANZIALE
LOCKED WASTE 1”1/4 SUITABLE FOR CRYSTAL BASIN WITH 
SPACE COLLAR

0139/1

CROMATO ALTRE FINITURE
01-0139/1 XX-0139/1 x M*

SCARICHI LAVABO/BIDET

330

1"1/4

63Ø

30
 ÷

 4
5

40Foro Ø

40Ø

1"1/4

330

40Ø

63Ø

0 
÷ 

15

1"1/4

330

40Ø

63Ø

0 
÷ 

15

63Ø

1”1/4

42foro Ø

30
 ÷

 4
5

1”1/4

63Ø

0 
÷ 

15

29

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura



883

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

SCARICO QUADRO STOP&GO 1”1/4 CON FINESTRA TROPPO 
PIENO
“STOP AND GO” POP-UP WASTE 1”1/4 SQUARE SHAPE WITH WINDOW FOR 
WATER LEVEL

6536

CROMATO ALTRE FINITURE
01-6536 XX-6536 x M*

SCARICO QUADRO STOP&GO 1”1/4 CON FINESTRA 
TROPPO PIENO + DISTANZIALE
“STOP AND GO” POP-UP WASTE 1”1/4 SQUARE SHAPE, SUITABLE 
FOR CRYSTAL BASIN WITH WINDOW FOR WATER LEVEL AND SPACE 
COLLAR

6536/2

SCARICO QUADRO STOP&GO 1”1/4 SENZA 
FINESTRA TROPPO PIENO
“STOP AND GO” POP-UP WASTE 1”1/4 SQUARE SHAPE 
WITHOUT WINDOW FOR WATER LEVEL

6536/1

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-6536/1

01-6536/2

XX-6536/1

XX-6536/2

x M*

x M*

SCARICHI LAVABO/BIDET

1"1/4

70

63Ø

30
 ÷

 4
5

1"1/4

70

63Ø

30
 ÷

 4
5

1"1/4

70

63Ø

0 
÷ 

15

29

40Ø

TAPPO SCARICO
WASTE STOPPER

> compatibile con 0134, 0135, 0137, 0137/1, 0137/2, 0137/3, 
0138, 0138/1, 0138/2, 0138/3
    

034001

CROMATO ALTRE FINITURE
01-034001 XX-034001 x M*

SCARICO QUADRO STOP&GO 1”1/4 SENZA FINESTRA 
TROPPO PIENO + DISTANZIALE
“STOP AND GO” POP-UP WASTE 1”1/4 SQUARE SHAPESUITABLE FOR 
CRYSTAL BASIN WITH SPACE COLLAR WITHOUT WINDOW FOR WATER 
LEVEL

6536/3

CROMATO ALTRE FINITURE
01-6536/3 XX-6536/3 x M*

1"1/4

70

63Ø

0 
÷ 

15

29

TAPPO STOP&GO
POP-UP CAPS

655045
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

655045
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

655045
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

655045
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura



884

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

SCARICO BLOCCATO QUADRO 1”1/4 SENZA 
FINESTRA TROPPO PIENO
LOCKED WASTE 1”1/4 SQUARE SHAPE WITHOUT WINDOW 
FOR WATER LEVEL

6536/4

CROMATO ALTRE FINITURE
01-6536/4 XX-6536/4 x M*

SCARICO BLOCCATO QUADRO 1”1/4 SENZA FINESTRA 
TROPPO PIENO + DISTANZIALE
LOCKED WASTE 1”1/4 SQUARE SHAPE SUITABLE FOR CRYSTAL BASIN WITH 
SPACE COLLAR WITHOUT WINDOW FOR WATER LEVEL

SCARICO UNIVERSALE QUADRO STOP&GO 1”1/4
ALL-PURPOSE SQUARE POP-UP WASTE 1”1/4

6536/5

6536/U

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-6536/5

01-6536/U

XX-6536/5

XX-6536/U

x M*

x M*

SCARICHI LAVABO/BIDET

1"1/4

70

63Ø

30
 ÷

 4
5

1"1/4

70

63Ø

0 
÷ 

15

29

1”1/4

42foro Ø

m
ax

 7
0

70

8036

8036/1

CROMATO ALTRE FINITURE
01-8036/1 XX-8036/1 x M*

CROMATO ALTRE FINITURE
01-8036 XX-8036 x M*

SCARICO OVALE STOP&GO 1”1/4 CON FINESTRA TROPPO 
PIENO
“STOP AND GO” POP-UP WASTE 1”1/4 OVAL SHAPE WITH WINDOW FOR 
WATER LEVEL

SCARICO OVALE STOP&GO 1”1/4 SENZA FINESTRA TROPPO 
PIENO
“STOP AND GO” POP-UP WASTE 1”1/4 OVAL SHAPE WITHOUT WINDOW 
FOR WATER LEVEL

CROMATO ALTRE FINITURE

CROMATO ALTRE FINITURE

90

66

1"1/4

63Ø

30
 ÷

 4
5

90

66

1"1/4

63Ø

30
 ÷

 4
5

TAPPO STOP&GO
POP-UP CAPS

655045
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

655045
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

805070
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

805070
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

655045
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura



885

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

8036/2

CROMATO ALTRE FINITURE
01-8036/2 XX-8036/2 x M*

SCARICO OVALE STOP&GO 1”1/4 SENZA FINESTRA TROPPO PIENO + 
DISTANZIALE
“STOP AND GO” POP-UP WASTE 1”1/4 OVAL SHAPESUITABLE FOR CRYSTAL BASIN 
WITH SPACE COLLAR WITHOUT WINDOW FOR WATER LEVEL

8036/3

8036/4

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-8036/3

01-8036/4

XX-8036/3

XX-8036/4

x M*

x M*

SCARICO OVALE STOP&GO 1”1/4 CON FINESTRA TROPPO PIENO + 
DISTANZIALE
“STOP AND GO” POP-UP WASTE 1”1/4 OVAL SHAPE, SUITABLE FOR CRYSTAL BASIN 
WITH WINDOW FOR WATER LEVEL AND SPACE COLLAR

CROMATO ALTRE FINITURE

SCARICO BLOCCATO OVALE 1”1/4 SENZA FINESTRA TROPPO PIENO
LOCKED WASTE 1”1/4 OVAL SHAPE WITHOUT WINDOW FOR WATER LEVEL

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

SCARICHI LAVABO/BIDET

90

66

1"1/4

63Ø

0 
÷ 

15

90

66

1"1/4

63Ø

0 
÷ 

15

90

66

1"1/4

63Ø

30
 ÷

 4
5

SCARICO BLOCCATO OVALE 1”1/4 SENZA FINESTRA TROPPO PIENO + 
DISTANZIALE
LOCKED WASTE 1”1/4 OVAL SHAPE SUITABLE FOR CRYSTAL BASIN WITH SPACE 
COLLAR WITHOUT WINDOW FOR WATER LEVEL

8036/5

CROMATO ALTRE FINITURE
01-8036/5 XX-8036/5 x M*
CROMATO ALTRE FINITURE

90

66

1"1/4

63Ø

0 
÷ 

15

SCARICO UNIVERSALE OVALE STOP&GO 1”1/4
ALL-PURPOSE OVAL POP-UP WASTE 1”1/4

8036/U

CROMATO ALTRE FINITURE
01-8036/U XX-8036/U x M*
CROMATO ALTRE FINITURE

1”1/4

42foro Ø

m
ax

 7
0

66

90

TAPPO STOP&GO
POP-UP CAPS

805070
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

805070
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

805070
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

805070
01- cromato / XX- finitura

TAPPO STOP&GO
POP-UP CAPS

805070
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura



886

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

SCARICHI LAVABO/BIDET

SCARICO QUADRO DA 1”1/4 CON FINESTRA 
TROPPO PIENO
WASTE 1”1/4 WITH WINDOW FOR WATER LEVEL

7537

CROMATO ALTRE FINITURE
01-7537 XX-7537 x M*

SCARICO QUADRO DA 1”1/4 SENZA FINESTRA 
TROPPO PIENO
1”1/4 WASTE WITHOUT WINDOW FOR WATER LEVEL

7537/1

CROMATO ALTRE FINITURE
01-7537/1 XX-7537/1 x M*

70

1" 1/4

30
 ÷

 4
5

190

63Ø

70

1" 1/4

30
 ÷

 4
5

190

63Ø

40Ø

SCARICO QUADRO 1”1/4 CON FINESTRA TROPPO PIENO  +  
DISTANZIALE
1”1/4 WASTE WITH WINDOW FOR WATER LEVEL AND SPACE COLLAR 
SUITABLE FOR CRYSTAL BASIN

SCARICO QUADRO 1”1/4 SENZA FINESTRA TROPPO PIENO + 
DISTANZIALE
1”1/4 WASTE WITH SPACE COLLAR WITHOUT
WINDOW FOR WATER LEVEL SUITABLE FOR CRYSTAL BASIN

7537/2

7537/3

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-7537/2

01-7537/3

XX-7537/2

XX-7537/3

x M*

x M*

SIFONE PER LAVABO 1”1/4
SIPHON FOR LAVATORY 1”1/4

011/L

CROMATO ALTRE FINITURE
01-011/L XX-011/L x M*

1"1/4

190

70

63Ø

0 
÷ 

15

1"1/4

190

70

63Ø

0 
÷ 

15

max.320

32
Ø

76
Ø

95
m

ax
.

12
4

1”1/4

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura

DISTANZIALE 
SPACE COLLAR

000024
01- cromato / XX- finitura



887

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

TUBO FINALE A MURO PER SIFONE Ø32 LAVABO
FINAL WALL PIPE FOR LAVATORY SIPHON Ø32
> compatibile con 011/L

011/1/L

CROMATO ALTRE FINITURE
01-011/1/L XX-011/1/L x M*

SCARICHI LAVABO/BIDET

32
Ø

385

SIFONE PER BIDET 1”1/4
SIPHON FOR BIDET 1”1/4

011/B

CROMATO ALTRE FINITURE
01-011/B XX-011/B x M*

76
Ø

32
Ø

330max.

80
m

ax
 5

5

1”1/4

CANNOCCHIALE PER SIFONE SENZA CALOTTA Ø32 CON 
CARTELLA
PIPE FOR SIPHON WITHOUT NUT Ø32 WITH FILLET
> compatibile con 011/L e 0133/L

011/2

TUBO FINALE A MURO PER SIFONE Ø32 BIDET
FINAL WALL PIPE FOR BIDET SIPHON Ø32

> compatibile con 011/B

011/1/B

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-011/1/B

01-011/2

XX-011/1/B

XX-011/2

x M*

x M*

32
Ø

385

32Ø

40
0

38,5Ø

PILETTA LAVABO/BIDET C/TAPPO E CATENELLA
POP-UP WASTE FOR BASIN AND BIDET WITH STOPPER AND 
LITTLE CHAIN

021

CROMATO ALTRE FINITURE
01-021 XX-021 x M*

32Ø

64Ø

42Ø60
m

ax 62Ø

18

1”1/4



888

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

PILETTA LAVELLO BASKET
POP-UP WASTE BASKET FOR SINK 

PILETTA A GRIGLIA PER SCARICO PIATTO DOCCIA
GRILL DRAINAGE SHOWER TRAIL

PILETTA LAVELLO GATTINARA C/TAPPO+CATENA 
POP-UP WASTE GATTINARA FOR SINK WITH STOPPER AND CHAIN

PILETTA PIATTO DOCCIA TONDA
WASTE ROUND FLAT SHOWER

> foro Ø90 mm
> filetto 1-1/2”

Finiture non realizzabili not made finishes: 
12, 13, 88

> scarico a griglia
> Ø83

> per piatto doccia foro Ø90
> scarico tondo
> Ø120

022N

016

022

8816/E + 775025

ACCIAIO INOX

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

ALTRE FINITURE

73-022N

01-016

01-022

XX-022N

XX-016

XX-022

x M*

x M*

x M*

COLONNA SCARICO VASCA C/CURVA REGOLABILE 
AUTOMATIC BATH WASTE WITH ADJUSTABLE CURVING

012

CROMATO ALTRE FINITURE
01-012 XX-012 x M*

SCARICHI LAVELLO | PILETTE DOCCIA | SCARICHI VASCA 

Ø 114

30
m

ax
 

90

1-1/2"

90foro Ø

120Ø 

32
Ø

80Ø

M
A

X.
 6

0

53Ø

13

85Ø

1“1/4

M5

150÷280

foro Ø 52

 

1” 1/2

63

 

foro
Ø

52
 Ø

71

 25

25
0

÷4
40

8016

����� ���

����� ��� �����

��� ���

����� ��� �����

�
�
�

���

�����

���

���

�
�
�

���

�
�

�
�
�
�
�
�
�

���

���

�
�
�

�
�
�

���

���������
�
��
�	�



�
�
�

���

���������
�
��
�	�



���

�
��

�

�
�
�

�
�
�

�����

�
�
�

���

���

�
�
�

���

�
�
�

���

�
�

����

���

�
�

����

���

�
�

PARTI ESTERNE - CROMATO

PARTE INCASSO

PARTI ESTERNE - ALTRE FINITURE
01-8816/E

775025
PREZZO TOTALE

XX-8816/E x M*



889

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

Finiture non realizzabili not made finishes: 
12, 13, 88

BATTERIA CATIS C/TUBO CURVO 45° E ROSONE
CATIS TAP SYSTEM WITH CURVED TUBE 45° AND DOME

017

CROMATO ALTRE FINITURE
01-017 XX-017 x M*

SCARICHI VASCA | SCARICHI WC

TUBO DI CONGIUNZIONE PER WC Ø40 C/ROSONE
CONNECTION TUBE FOR W.C. Ø40 WITH DOME

014/1

CROMATO ALTRE FINITURE
01-014/1 XX-014/1 x M*

76
Ø

300

Ø
 4

0

COLONNA SCARICO VASCA EROGAZIONE DAL TROPPO PIENO 
C/CURVA REGOLABILE
AUTOMATIC BATH WASTE WITH OVERFLOW AND ADJUSTABLE CURVING

COLONNA SCARICO VASCA ESTERNA C/SIFONE SCARICO 
PAVIMENTO
EXTERNAL AUTOMATIC BATH WASTE- FLOOR CONNECTION

> comando di chiusura STOP&GO

012/1

012/2N

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-012/1

01-012/2N

XX-012/1

XX-012/2N

x M*

x M*

TUBO DI CONGIUNZIONE PER WC Ø32 C/ROSONE
CONNECTION TUBE FOR W.C. Ø32 WITH DOME

014

CROMATO ALTRE FINITURE
01-014 XX-014 x M*

310max

1-1/2"G

52foro Ø

72Øforo Ø
 52

37Ø

83Ø

10
0

5÷
25

26Ø

16
0

m
ax

48
0

m
ax

min. 210  

m
in

. 4
10

foro Ø 52

 Ø
 5

0

foro
Ø

5
2

 Ø
7

1

 25

1” 1/2

200

65

57
,5  

76
Ø

32
Ø

250

m
in

. 4
10



890

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

PARTI EST BATTERIA CATIS S/TUBO CURVO E ROSONE + BLOCCHETTO
EXTERNAL PARTS CATIS TAP SYSTEM WITHOUT CURVED TUBE AND DOME

PULSANTE C/ROSONE+BLOCCHETTO X BATTERIA 
CATIS
BUZZER WITH DOME AND BATTERY BLOCK FOR CATIS

017/3

017/4

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-017/3

01-017/4

XX-017/3

XX-017/4

x M*

x M*

RUBINETTO PER CASSETTA
ANGLE VALVE FOR W.C. BOX

023

CROMATO ALTRE FINITURE
01-023 XX-023 x M*

SCARICHI WC 

3/8"

10Ø

max.150

m
ax

.1
50

10
Ø1/

2”

PARTI EST BATTERIA CATIS C/TUBO CURVO 45° + 
ROSONE
EXTERNAL PARTS CATIS TAP SYSTEM WITH CURVED TUBE 45° 
AND DOME

017/2

017/1 BATTERIA CATIS S/TUBO CURVO E ROSONE
CATIS TAP SYSTEM WITHOUT CURVED TUBE AND DOME

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-017/1

01-017/2

XX-017/1

XX-017/2

x M*

x M*



891

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

RUB.QUADRO SENZA LAVABO C/FILTRO + RIDUTTORE 3/8”1/2”
ANGLE SQUARE VALVE WITH FILTER AND REDUCER 3/8”- 1/2

> attacco a parete da 1/2”
> per collegamento flessibili 1/2” 
> filtro interno per raccolta macro impurità
> sezione quadrata

7720

CROMATO ALTRE FINITURE
01-7720 XX-7720 x M*

SCARICHI WC | COLLEGAMENTI RUBINETTERIA

RUBINETTO SOTTOLAVABO QUADRO C/FILTRO
ANGLE SQUARE VALVE WITH FILTER

> attacco a parete da 1/2”
> per collegamento flessibili 3/8” o tubetti Ø10
> filtro interno per raccolta macro impurità
> sezione quadrata

0920

CROMATO ALTRE FINITURE
01-0920 XX-0920 x M*

1/
2”50

20

3/8"

10foro Ø

1/
2”50

20

10foro Ø

 1/2”

3/8”

TUBO CURVO 90° Ø30 CON ROSONE
CURVED TUBE 90° Ø30 WITH DOME

CONFEZIONE DADINI FISSA SANITARI
NUTS FOR FIXING SANITARYWARE

025

028

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-025

01-028

XX-025

XX-028

x M*

x M*

RUBINETTO SOTTOLAVABO CON FILTRO
ANGLE VALVE WITH FILTER 
> attacco a parete da 1/2”
> per collegamento flessibili 3/8” o tubetti Ø10
> filtro interno per raccolta macro impurità

020

CROMATO ALTRE FINITURE
01-020 XX-020 x M*

285

30Ø

17
0

1/
2”

10foro Ø

3/8"

Ø
 5

5



892

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

RUBINETTO INCASSO DA PARETE 1/2” CAPPUCCIO CHIUSO
BUILT-IN STOP COCK 1/2” FULL CLOSE HOOD

SQUADRETTA COMPLETA DI ROSONE E NIPLEX
COMPLETE FILLET WITH DOME AND NIPLES

010/E + 000006

013

CROMATO ALTRE FINITURE
01-013 XX-013 x M*

CURVETTO DI COLLEGAMENTO PER MONOFORO 
CONNECTING TUBE FOR 1” HOLE MIXER

027

CROMATO ALTRE FINITURE
01-027 XX-027 x M*

COLLEGAMENTI RUBINETTERIA

1/
2"

1/2"

17
0

170

12
Ø

1/
2"

1/
2"

1/
2"

3/8"

10foro Ø

PARTI ESTERNE - CROMATO

PARTE INCASSO

PARTI ESTERNE - ALTRE FINITURE
01-010/E

000006
PREZZO TOTALE

XX-010/E x M*

RUBINETTO SOTTOLAVABO CON FILTRO E SNODO
ANGLE VALVE WITH FILTER WITH JOINT

> attacco a parete da 1/2”
> snodo per collegamento flessibili 3/8” o tubetti Ø10
> filtro interno per raccolta macro impurità

020/1

RUBINETTO SENZA LAVABO C/FILTRO + RIDUTTORE 3/8”1/2”
ANGLE VALVE WITH FILTER AND REDUCER 3/8” - 1/2”

> attacco a parete da 1/2”
> per collegamento flessibili 1/2” 
> filtro interno per raccolta macro impurità
> sezione quadrata

8020

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-8020

01-020/1

XX-8020

XX-020/1

x M*

x M*

1/
2”

Ø 
55

3/8”

1/2”

10foro Ø

60

1/
2”

Ø
 5

5

15°

3/8”

10foro Ø

65



893

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

TUBETTO MIX M10X1 L=37 CM C/RIDUTTORE 3L/min
PIPE FOR MIXER WITH 3L FLOW REDUCER

884026

CROMATO ALTRE FINITURE
01-884026 XX-884026 x M*

TUBETTO MIX M10X1 L=37 CM C/RIDUTTORE 5L/min
PIPE FOR MIXER WITH 5L FLOW REDUCER

804034

CROMATO ALTRE FINITURE
01-884034 XX-884034 x M*

COLLEGAMENTI RUBINETTERIA

KIT COLLEGAMENTO PIANTANA/BOCCA PER 
BATTERIA 3 FORI 
CONNECTION KIT 3 HOLES

035358

CROMATO ALTRE FINITURE
01-035358 XX-035358 x M*

TUBETTO CON CALOTTA 1/2”F
PIPE WITH NUT 1/2”F

TUBETTO PER MIX M10X1 L=35 CM
PIPE FOR MIXER M10X1 CM 35

029

105007

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-029

01-105007

XX-029

XX-105007

x M*

x M*

TUBETTO PER MIX M8X1 L=30 CM
PIPE FOR MIXER M8X1 CM 30

035090

CROMATO ALTRE FINITURE
01-035090 XX-035090 x M*

M10 x 1

3/8"

37
0

M10 x 1

3/8"

37
0

10Ø

30
0

1/2"



894

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

CONFEZIONE FLESSIBILI INOX M10X1 X1/2”F 36CM 
RIDUTTORE 5L/min
FLEXIBLE PACKAGING M10X1 X 3/8”F CM 36 WITH 5L FLOW REDUCER

CONFEZIONE FLESSIBILI INOX M10X1 X1/2”F 36CM 
RIDUTTORE 3L/min
FLEXIBLE PACKAGING M10X1 X 3/8”F CM 36 WITH 3L FLOW REDUCER

804051

884070

SENZA FINITURA

SENZA FINITURA

804051

884070

COLLEGAMENTI RUBINETTERIA 

CONFEZIONE FLESSIBILI INOX M10X1 X1/2”F 50CM 
RIDUTTORE 5L/min
M10X1 X 3/8”F CM 50 WITH 5L FLOW REDUCER

804052

SENZA FINITURA
804052

CONFEZIONE FLESSIBILI INOX M10X1 X1/2”F 50CM RIDUTTORE 3L/min
FLEXIBLE PACKAGING M10X1 X 3/8”F CM 50 WITH 3L FLOW REDUCER

884071

SENZA FINITURA
884071

CONFEZIONE FLESSIBILI INOX M8X1 X3/8”F 58 CM
FLEXIBLE PACKAGING M8X1 X 3/8”F CM 58

444043

SENZA FINITURA
444043

CONFEZIONE FLESSIBILI INOX M10X1 X3/8”F 36CM
FLEXIBLE PACKAGING M10X1 X 3/8” F CM 36

104025

SENZA FINITURA
104025

CONFEZIONE FLESSIBILI INOX M10X1X3/8”F 50CM
M10X1 X 3/8”F CM 50

054035

SENZA FINITURA
054035

CONFEZIONE FLESSIBILI INOX M8X1 X3/8”F 44CM
FLEXIBLE PACKAGING M8X1 X 3/8”F CM 44

444013

SENZA FINITURA
444013

CONFEZIONE FLESSIBILI INOX M10X1X1/2”F 36CM C/CURVA
SET STAINLESS STEEL HOSES M10X1 X 1/2”F CM 36 WITH ELBOW

054010

SENZA FINITURA
054010



895

ACCESSORI RUBINETTERIA

XX = CODICE FINITURA RICHIESTA: per identificare codice corretto vedi pag. 878
M* = MOLTIPLICATORE: per calcolare il prezzo delle altre finiture vedi tabella pag. 878

PER I PREZZI DEI RICAMBI INDICATI
vedi pag. 897 ACCESSORI

RUBINETTERIA

RACCORDO A PAVIMENTO 3/4”
FLOOR ELBOW 3/4”

026

CROMATO ALTRE FINITURE
01-026 XX-026 x M*

3/
4"

3/4"

122

76
0

80

PROLUNGA 3/4” PER GRUPPO VASCA EST 50 MM
EXTENSION 3/4 MM 50 FOR EXTERNAL BATH MIXER

COPPIA RACCORDO ECCENTRICO BV 3/4”X 
GRUPPO VASCA ESTERNO
3/4” ELBOWS FOR EXPOSED BATH MIXER

PARTE INCASSO VASCA PAVIMENTO C/COLONNE 
3/4” INTERASSE 150MM

026/2

026/3

054062

CROMATO

SENZA FINITURA

ALTRE FINITURE
01-026/3

054062

XX-026/3 x M*

RACCORDO DIRITTO BV 3/4” X GRUPPO VASCA EXT
STRAIGHT 3/4” ELBOW FOR EXTERNAL BATH MIXER

026/1

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-026/1

01-026/2

XX-026/1

XX-026/2

x M*

x M*

RACCORDI | PREDISPOSIZIONI 

11
0

m
ax

.3
0

3/4"

3/
4"

43Ø

3/4"

M
ax

. 4
0

45Ø

58

11

35

3/
4"

X

X + 22

in
 3

/4
"

in
 3

/4
"

out 3/4" out 3/4"

150

65

12tassello Ø

10
0

250

50

3/
4"

3/
4"



896

ACCESSORI RUBINETTERIA

XX = FINISHING CODE REQUIRED: to identify the correct code look at the page 878
M* = MULTIPLIER: to calculate the price of the other finishes, look at the table on page 878

FOR THE PRICES OF THE INDICATED SPARE PARTS CODE
look at the page 897ACCESSORI

RUBINETTERIA

TAPPO COPRIFORO
STOPPER WITH COVER PLATE

TAPPO COPRIFORO CON ATTACCO CATENELLA
STOPPER WITH COVER PLATE AND LITTLE CHAIN 
CONNECTION

034042

034043

CROMATO

CROMATO

ALTRE FINITURE

ALTRE FINITURE

01-034042

01-034043

XX-034042

XX-034043

x M*

x M*

PREDISPOSIZIONI | TAPPI COPRI FORO 

Ø 54

Ø 54

PARTE INCASSO VASCA PAVIMENTO C/COLONNE 
3/4” INTERASSE 160MM

084058

SENZA FINITURA
084058

in
 3

/4
"

in
 3

/4
"

out 3/4" out 3/4"

160

65

12tassello Ø

10
0

260

PIASTRA COPRIPOZZETTO Ø150
PLATE COVER CABINET

024

CROMATO ALTRE FINITURE
01-024 XX-024 x M*Ø 150



897

ACCESSORI RUBINETTERIA

ACCESSORI
RUBINETTERIA

PER  IL CALCOLO DEL PREZZO DELLE FINITURE DIVERSE DAL CROMATO VEDI PAG. 878
TO CALCULATE THE PRICE FOR DIFFERENT COLORS LOOK AT THE PAGE 878

RICAMBI

01-

01-

XX-

XX-

01-

01-

XX-

XX-

000088

000024

000388

000024

655045

805070

655045 

805070

cromato

cromato

altre finiture

altre finiture

cromato

cromato

altre finiture

altre finiture

ELENCO COMPLETO DISPONIBILE ON LINE: WWW.BELLOSTARUBINETTERIE.COM/ONLINE/RICAMBI.PDF
LISTED COMPLETED AVAILABLE ON LINE: WWW.BELLOSTARUBINETTERIE.COM/ONLINE/RICAMBI.PDF

TAPPI STOP & GO
POP UP CAPS

DISTANZIALI
SPACE COLLARS



898

NOTE



899

NOTE



© 2022 Bellosta Rubinetterie. Tutti i diritti riservati. 

GRAPHIC: 
Roberta Teruggi 

CONCEPT:
aCB

BELLOSTA CARLO & C. RUBINETTERIE Srl
Via S. Botticelli, 12/14 | 28024 Briga Novarese (No) Italia  
Ingresso showroom: Largo Carlo Bellosta | Briga Novarese (No) Italia
Atelier Milano: Via Montenapoleone, 22 
Atelier Roma: Piazza di Spagna, ingresso Via Gregoriana 23

T +39 0322 956 425 | 0322 912 330 | 0322 946 84  
F +39 0322 955 368 | info@bellostarubinetterie.com
Export department: estero@bellostarubinetterie.com

Follow us on instagram, facebook, youTube, linked in, twitter

Visit our website on bellostarubinetterie.com

ASCOLTARE, PENSARE, FARE è la formula 
che abbiamo scelto per descrivere l’attenzione 
con cui interpretiamo i desideri del cliente, 
elaboriamo soluzioni ed esprimiamo proposte 
che ne soddisfino i gusti e le esigenze. Con lo 
stesso spirito, con lo stesso entusiasmo, oggi 
come sessant’anni fa.

LISTEN, THINK, ACT is the philosophy that 
we use to describe the attention by which 
we interpret the wishing of the client, we 
find solution and make proposal for meet 
the taste and exigent. With the same mind 
and passion, today like sixty years ago.

ASCOLTARE

PENSARE

     FARE 

RIVENDITORE | AGENTE D’AREA

      RETAILER | CONTACT AREA




